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1015 TSR RAT b Fll 0.06 2194 03
1015 TiZERAT IR B 0.08 2050 01
1012 TSR RAT TR FAI7)LE 0.05 2050 02
10153 TiZERAT TR b Fl 0.07 2097 03
1012 TSR RAT TR FAI7)LE 0.05 2097 04
10153 TiZERAT x5 b Fl 0.06 2096 07
1013 TSR RAT Pl 5 avy)—k 0.06 2096 12
10153 TiZERAT x5 b Fl 0.07 2097 10
1015 TiZRRAT RIS (e 0.06 2142 03
10153 TiZERAT EFR Eih 0.06 2050 03
1013 TiZERAT EFR FAI7ILE 0.06 2097 05
10153 TiZERAT SH A 2Hh 0.08 2096 08
10153 T 5RRAT X8 i 0.06 2005 01
1015 +5RRAT XA FAI7ILE 0.06 2005 02
10153 T 5RRAT XA EHih 0.08 2005 03
1015 TiZERAT XA R 0.07 2005 04
10153 TiZERAT XL EHih 0.06 2049 01
10153 TiZERAT L+ /HT avH)—k 0.06 2096 01
10153 TiZERAT L /HT FAI7ILE 0.06 2096 02
10153 TiZERAT L+ /HT FAXI7I)LE 0.06 2096 04
10135 +5ERAT i/t 2ih 0.07 2050 04
1015 TiZERAT TIELTE 2ith 0.06 2049 04
10135 +5ERAT /BT 2ih 0.07 2096 03
1015 TiZERAT &5 2 0.07 2142 01
10138 TiZERAT (15 (e 0.07 2142 02
1015 TiZERAT SE/IE avyl)—k 0.06 2096 09
1015 TiFERAT sE/IE avy)—k 0.06 2096 11
10135 T iZERAT EB7E R F 0.06 2145 01
10138 TiFERAT BT e 0.06 2145 02
10135 T iZERAT B7E R F 0.05 2145 03
10138 TiFERAT BT R 0.06 2192 03
10153 T iZERAT =/ FAI7I)LE 0.05 2096 05
1015 TiFERAT 2/ F FAI7IE 0.06 2096 06
10153 TiZERAT =/ avy)—k 0.05 2096 10
10135 15 RAT 7/ 2ih 0.07 2097 06
10153 TiZERAT m/E FAI7I)LE 0.05 2097 07
1015 TiFERAT 7/ FAI7IE 0.04 2097 08
10153 T iZERAT m/E FAI7I)LE 0.06 2097 09
1015 TiFERAT H A e 0.07 1956 02
10153 T iZERAT HR b F 0.06 1956 03
10138 TiFERAT CEFHE FbF 0.09 2049 02
10135 TiZERAT AIHE FAI7ILE 0.08 2049 03
1015 TiFERAT B = fift FAI7IE 0.05 2097 01
1013 T 5RRAT B = fift 2Hh 0.07 2097 02
1015 1R RAT A B 0.08 2192 01
1013 T 5RRAT R H Bih 0.06 2192 02
1015 TiZERAT A D F| 0.06 2193 02
1013 T 5RRAT R H Bih 0.08 2193 03
1018 TiZERAT HARDE Bt 0.07 1956 01
1015 T iZRRAT BE b Fl 0.07 2193 01
1018 TiZERAT e = 0.08 2194 01
1015 TiZRRAT BE b F 0.09 2194 02
1018 TiZERA e Hifh 0.07 2194 04
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